Description Picture #in 2020 Kit
SENSORS
ANALOG
ET /‘
Tophat %:?
Small Tophat g?
Light 9@
Linear Slide /
DIGITAL
Lever \k



Small Touch

Large Touch k

MOTION

Servo ;
e

Black Gear Motor
Micro Servo

Create?2

Create Charger

CONTROLLER



https://www.google.com/imgres?imgurl=http://www.irobotweb.com/%7E/media/MainSite/Images/About/STEM/Create/create-overview.png%253Fh%253D487%2526la%253Den%2526w%253D445&imgrefurl=http://www.irobot.com/About-iRobot/STEM/Create-2.aspx&h=487&w=445&tbnid=JEZ8Q57tbt2pNM:&docid=S8Z1HmFhtYvrMM&ei=zjOVVrfPH4TmjwPnhKSAAw&tbm=isch&ved=0ahUKEwi37oeu4qTKAhUE82MKHWcCCTAQMwgdKAAwAA

Wallaby

Black Camera @ 1

Wallaby Battery
Charger

Wallaby Battery

USB Cable

Screws, Nuts, and Standoffs

Screw 8-32 x 1/4" ‘ .
(black)

Screw 8-32 x 1/2" ~ .
(black)




Screw 8-32 x 3/4"
(black)

IGUS Screw M3 x
14mm (silver)

Nut 8-32 Keeps
(black)

Nut 8-32 Nylock
(black)

IGUS Nut M3 (silver)

Standoff 8-32 x 1/2"

Standoff 8-32 x 1"

Standoff 8-32 x 2"

il LR

35

10

85

15

12



Standoff 8-32 x 3"

Create Bracket
Mounting Screws
(packaged with
create brackets)

Short Silver Servo
Horn Screw (M3)

Silver Servo Horn
Nut (M3)

Silver Servo Horn |
Machine Screw (M3) |

Threaded Rod 8-
32 x1"

Threaded Rod 8- )
32x2" ‘

10

Threaded Rod 8-
32 x3"



Threaded Rod 8- ]
32 x6"

Servo Extension
Cable

Sensor Extension
Cable

Brass Screws 1 bag

25

Push Rivet

Solarbotics Wheel

Caster




	Sheet1

